Ex: Pricke] Hoary B (2) = (P
oh,, = -5 [7 &) L) + (42 0 )9 )

V' {e-h a* +}"+‘H"

\fl]’\Lfb —Y1 = €. \ = L e
D) = R (0 =
Ll B T
ZP("‘J‘J/;’) = \7}
Sner Cb[?)‘- 35(1""—) HE) V-»cP(Y) V (4’(1 na, ?,g-)

o o2 g STBY Wie/ TR Sl aul Asts ot
LR ) - ‘,':J‘(" )Ty, PP < Leyond o0 .

Hon:v(;_{‘) SA;" J_r‘l(;') 43:(;1) :fﬂ{):'l 3;”_(7_,{]44.)3’" 2_I) CPL(;”)
w
N\
"’9_ = IJ',_("'” Pm'oo(,«.'a: )
[Rrn.mEey ) pededy

R Aot wot LPL)«L M,

Csndugpn:

Vo Yo ~ ~ _
=L (§ ARG EE) + [H 5. HFG)|=h,

@) b -';JJ;’ $ (7) V;—CRH(;') +JJ7 rHEHP (7).

() s
&43 (vpt) =;’V’(l‘ )Pt V—' > () =V (‘P (" ‘"“’7"5))
P (o -na, ?,t) ‘—Q‘, ‘3’)%’) = V4/ 19 (F”)
Sy = S F BCY TP 5 et BR0)
Be (71)

Sk =p=- LJ/? PO F (B s [df ht?) Fe) P (F)

niny)




(3 h =-L#M V2 &%) + [d7 5, (DE(F) & (7
nm )\_L_‘/_/) “( k/gv_/)

é) O if hand m
dSCumJ J—o SFrmL de noh carve_(,p&v{ H

oves Space Cougbly necohl
ble $,.(7)
/
LL,,,., = (5 MC h and MMhd?Aéwsg h=m+| v h=m-|

= ot I€V\*:-M

-0 othowe

CS“JMHS*\: l'\ = ¢>(c'$7 + G’(

Nm

H )
n(m+) h ()




